
8) | hw` 𝑥 =
1

2
(− 1 + −3 ) I 𝑦 =

1

2
(− 1− −3 ) nq, Z‡e প্রমাণ কর যে,  

i) 𝑥3 + 𝑦−3= 2

ii) 𝑥4 + 𝑥2𝑦2 + 𝑦4= 0

𝑥 =
1

2
( − 1 + −3 )

= 𝜔

𝑦 =
1

2
( − 1− −3 )

= 𝜔 2

i) L. H. S.

= 𝑥3 +𝑦−3

= 𝜔 3 +
1

𝜔2 3

= 𝑥3 +
1

𝑦3

= 𝜔 3 +
1

𝜔 6



= 𝜔3 +
1

𝜔3 2

= 1 +
1

1

= 2 = 𝑅. 𝐻. 𝑆.

ii) 𝐿. 𝐻. 𝑆.

= 𝑥4 + 𝑥2𝑦2 + 𝑦4

= 𝜔4 + 𝜔2 𝜔2 2 + 𝜔2 4

= 𝜔3𝜔 + 𝜔6 +𝜔8

= 𝜔 + 𝜔3 2 + 𝜔6𝜔2

= 𝜔 + 1 + 𝜔3 2𝜔2

= 𝜔 + 1 + 𝜔2

= 0 = 𝑅.𝐻. 𝑆.



একককর একটি কাল্পনিক ঘিমূল 𝜔 হকল, প্রমাণ কর যে, 9) 

i) 1 − 𝜔2 1 − 𝜔4 1 − 𝜔8 1 − 𝜔10 = 9

ii) 1 − 𝜔 + 𝜔2 1 − 𝜔2 + 𝜔4 1 − 𝜔4 +𝜔8 1 − 𝜔8 + 𝜔16 = 16

i) L. H. S.
= 1 − 𝜔2 1 − 𝜔4 1 − 𝜔8 1 − 𝜔10

= 1 − 𝜔2 1 − 𝜔3𝜔 1 − 𝜔6𝜔2 1 − 𝜔9𝜔

= 1 − 𝜔2 1 − 𝜔 1 − 𝜔3 2𝜔2 1 − 𝜔3 3𝜔

= 1 − 𝜔2 1 − 𝜔 1 − 𝜔2 1 − 𝜔

= 1 − 𝜔2 2 1 − 𝜔 2

= (1 − 2𝜔2 + 𝜔4) (1 − 2𝜔 + 𝜔2)

= (1 − 2𝜔2 + 𝜔) (1 − 2𝜔 + 𝜔2)

= (1 + 𝜔2 − 3𝜔2 + 𝜔) (1 + 𝜔 − 3𝜔 + 𝜔2)

= (1 + 𝜔2 − 3𝜔2 + 𝜔) (1 + 𝜔 − 3𝜔 + 𝜔2)

= (0 − 3𝜔2) (0 − 3𝜔)

= 9𝜔3 = 9


